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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

[’ FVOPH’ ]

is

—@&— PHO

10

15

20

30

35

40




Trend plot forP3-1_0
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Warning: lcol ['PHB’,| 'PHC’'] missing

1
500 Bylnit @D4) 02:42: ET=1562 Fg=1500.0 Ro=52.0
1

0 1 2 3 4 5 6 7 8 9

10

- 2000

- 1000

13

22

23

30 B | W [Tm| W | M| ™ | ™ | ™ | ™| m

FA

M [ BA

A

FA

A

2000

ByEt @D37 18:36: ET=530 Fg=290.0 Ro=nan

100 A

{ 12

- 1000

O—t:%%;’! - — 4 . —

-
1 2 3 4 5 6 7 8 9

10

19

20

21

22

23

3004 P8 | B |/ BH [l | BA [ T [/ [N [N

IINFR

EAETS

A

FA

A

A

A

A

A

A

FA

A

2000

1
ByWoFv @D41 02:42: ET=330 Fg=300.0 Ro=0
200 -

1
I
I
]
I
1
100 I
I

- 1000

10

18

19

20

21

22

23

o

0g L B | B [Iw] B || B | & [Am[hm]|1m

IINFR

1 —®
10-!2 - — 4 %ﬁﬁ”. a a I = : i —\1
) 0 1 2 3 4 5 6 7 8 9

FA

A

A

A

FA

A

0.6

0.4+

0.2~

0.0
1000 4

| _obs
—@— PPFD_obs

60

40 N

RH

RH_obs
RHo obs

0-24..lIlIl.llllIIIllIlIIlIIlIIlIlllllllllllll‘-.lll"-"
014 ® VPD

hour

FRV

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



25.0

24.5

24.0 -

23.5 -

23.0

22.5

425

T
450

475 500
m=435,n FV0=0

T
525

23.5

23.0 A

22.5 -

22.0

21.5 A

21.0 -

—0—

M_W

435

440 445

m=435, FV0=0

24.5 A

24.0 A

23.5 A

23.0 A

22.5 A

—O—

M_E

435

T T
440 445

m=495,m FV0=0

24.00 -

23.75 A

23. 50 A

23. 25 A

23. 00 A

22.75 A

——

M_W

495

500 505

m=495, FV0=0

- ME
25. 2 -
25.0 -
24.8 -
24.6 -
24. 4
T T T
495 500 505

24

23 A

22 -

21 -

T
425

T
450

T
475

m

T
500

T
525




